1.

& 2ol A @] LR 52} 0ol Uk 40 24 Arkel 7

Q= 17, ©= 0.007
@ -© =7-0.007 = 6.993




ohe [ [oko] ggke 5 AR 7o AL 129

oo

(1) 9.85%=0.010] [ Jolx, 24 0.010] [ |olych
(2) 9.85 - 2.4 = AUFRIA] F5HA 2.

@ (1) 98.5, 24 (2) 7.45 @ (1) 98.5, 240 (2) 7.45
® (1) 985,24 (2) 7.45 @(1) 985, 240 (2) 7.45
® (1) 985, 2.4 (2) 7.45

~&B

24+ 240 02 St A F 2 2 T 4 QU
(1) 9.85+ 0.01°] 985 o]1l,

2.4+ 0.01 9] 240 ©]t}.
(2) 9.85-2.4 =745




1.54

ul
RO

=41

4.1-2.56 =1.54

+ 2.56

s




oh& = FolA 7.05 Bk A1, 7.18 Bt 22 = R 2 A

7.1,7.12,7.21,7.03,7.07

@ 170 @ 27 €)3ﬂ @ 47 ® 571

7.05 Kot 337, 7.18 B} 22 $=71,7.12,7.07 44t
whabA 379Ut}




0.137,0.215,0.314 Al 45 B w g,

24 BES BE 00|BE A% AR 5 H|ustH H
Yrt,

1<2<30|2&

0.314 > 0.215 > 0.137

=, 98 > &> 3 o] B o] 71 wo] A9dFYrt.




304 8
13, —, 2.85, 2—
313 100 55 10

> E
[> ®E: 2585
304 4 4
— =3— =34+-—=3+0.04=3.04
100 100 i 100 i
8 8
25 _2—1—1—0 =24+08=28
304 8
14> — > 2. 2—
3.14 > 100 > 2.85 > 10

b FRAR A2 £ 2.85 YU




(1A B A +(25 © #A)
=0.7+0.8
= 1.5(km)




A 9.

A 3

g




0.8L A2 £ 6= AL 1 %031 & WS

2 LAY
=
=

>
> ®E: 05L

=

BFE QL.

0.8-0.3=0.5(L)




